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QUESTION NO: 1 
 

A customer reports that during a planned work activity, which involved powering down the Primary

Signaling Server on a CS 1000 Rls. 4.0 system, some IP Phones were unreachable. Some of

these IP Phones also appeared to have old numbers assigned to them. Which database

configuration parameter should be checked on the Alternate Signaling Server?
 

A. Run all diagnostics on the Alternate Signaling Server.

B. Check that the Alternate Gatekeeper is setup for automatic database synchronization.

C. Check that the Signaling Server is indeed setup as the Alternate.

D. Check the Signaling Server for fail-safe configuration.
 

Answer: B

 

 

QUESTION NO: 2 
 

Which overlay is used for IP Phone Key Expansion Module (KEM) configuration as part of the

initial configuration of IP Line 4.0 data?
 

A. Overlay 97

B. Overlay 117

C. Overlay 11

D. Overlay 14
 

Answer: C

 

 

QUESTION NO: 3 
 

A customer has a CS 1000 Rls 4.0 system. They have to configure Start Arrangement Incoming

(STRI) prompt as part of Trunk Data Block programming in LD 14. In addition, they want to

program the system so the terminating trunk is NOT expected to return a pulse telling the

originating end to begin sending digits. What is the correct value for STRI prompt considering the

customer's requirements?
 

A. WNK

B. IMM

C. OWK

D. DDL
 

Answer: B
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QUESTION NO: 4 
 

You have just tested a conference loop on a CS 1000 Rls. 4.0 system. To enable the loop you

access LD 38 and enter the ENLX loop command. What does loop in the command line

represent?
 

A. the conference loop phone number

B. the odd loop of the conference/TDS loop pair

C. the conference loop common language identifier

D. the conference loop physical pair connection point
 

Answer: B

 

 

QUESTION NO: 5 
 

In a scenario where there are defective serial I/O ports within a CS 1000 Rls. 4.0 system, how is

the state of each Serial Data Interface (SDI) port checked using overlays?
 

A. LD 135 using the DISL command

B. LD 117 using the PRTSTAT command

C. LD 32 using the TEST IOP command

D. LD 37 using the STAT TTY command
 

Answer: D

 

 

QUESTION NO: 6 
 

If the Signaling Server in a CS 1000 Rls. 4.0 system is NOT a stand-alone Signaling Server and it

is to provide Network Routing Service (NRS) failsafe during the software installation, which choice

meets this requirement?
 

A. Alternate

B. Backup

C. Failsafe

D. Primary
 

Answer: C

 

 

QUESTION NO: 7 
 

You are adding a new IP Trunk 3.01 node on a CS 1000 Rls. 4.0 system using a Media Card.

Using the IP trunk card configuration procedure of Optivity Telephony Manager (OTM), what
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should you do to make sure all channels are available for use?
 

A. Set the card density to 32 on the configuration tab of OTM.

B. Set the first Channel ID (CHID) to 0 on the configuration tab of OTM.

C. Check the DCHIP checkbox on the configuration tab of OTM.

D. Set the card density to 24 on the configuration tab of OTM.
 

Answer: A

 

 

QUESTION NO: 8 
 

On a CS 1000 Rls 4.0 system, which prompt in LD 16 identifies the route as Primary Rate Access

(PRA) or Integrated Services Signaling Link Dedicated (ISLD)?
 

A. DTRK

B. IFC

C. DGTP

D. MODE
 

Answer: D

 

 

QUESTION NO: 9 
 

You have an issue with Enhanced Redundancy for IP Line nodes in a CS 1000 Rls. 4.0 system.

The IP Phones (node ID=345) are programmed with a primary Connect Server (node ID=345) and

a secondary Connect Server (node ID=3449). However, when the primary Connect Server is

unavailable the IP Phones fail to register with the secondary Connect Server. What could be the

issue?
 

A. The node ID of the IP Phones must always be different than the node ID of the Connect Server.

B. If the node ID of the IP Phones is three digits and the node ID of the Connect Server is four

digits, the first three digits of the node ID of the Connect Server must match the node ID of the IP

Phones (left to right).

C. If the node ID of the Connect Server is four digits then the node ID of IP Phones must be four

digits as well.

D. The node ID of the IP Phones must be identical to the node ID of the Connect Server.
 

Answer: B

 

 

QUESTION NO: 10 
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